TH2EEED &R

SH2EERR, OREE) Rib-TE (R6.3.313R7E)
EBA | REERIFIRES] EiED | BBEtD (ALFHS| TEH | SER BRI [EFFE
AR 33 15 0 0 0 0 15 - 100.0%
Z il 8 6 0 0 0 0 6 — 100.0%
Wit 42 37 0 1 0 2 33 1| 94.6%
Lk 37 25 0 0 0 0 25 — 100.0%
Bt 116 60 0 0 0 1 57 2] 100.0%
KEFA L 0|- — — — —
AR 75 64 0 0 0 1 62 1] 98.4%
hF1PE 103 80 0 0 0 0 80 - 100.0%
Bz 16 9 0 0 0 0 9 - 100.0%
Fi& 158 75 0 0 0 0 75 - 100.0%
&3 588 371 0 1 0 4 362 4
XRB-EEADBITHRESD,
SH2EEFERS OXREE) 41V 75REFmE (R6.3.313R7E)
EBA | RREHRFIRES] EiED | BBEtD | ALFHS| TEH | TR BT [EFFE
AR 2 1 0 0 0 0 1 - 100.0%
Z 3 6 6 0 0 0 0 6 — 100.0%
L3k dE 1 0]- - — —
L3RR 35 28 0 0 0 0 28 — 100.0%
Bt 46 32 0 0 0 0 32 - 100.0%
KEFA L 0|- — — — —
PR 8 8 0 0 0 0 8 — 100.0%
aar i) 3 3 0 0 0 0 3 — 100.0%
Bz 9 6 0 0 0 0 6 - 100.0%
& 68 51 0 0 0 0 51 - 100.0%
&&t 178 135 0 0 0 0 135 —
T (R2EEIR) 766 506 0 1 0 4 497 4
KB BER-EREANDBITHHEESD, EFHH 505 EFFHE 99.8%
SH2EERRD CREE) Rib-TE (R6.3.313R7E)
EBA | RREERFIRES] EED | BBEtd | ALFHS| TEH | SER BI |&FE
AR 17 11 0 0 0 0 11 - 100.0%
Z 3 3 3 0 0 0 0 3 — 100.0%
Lk dE 37 34 0 0 0 1 33 — 100.0%
LUk 23 16 0 0 0 0 16 — 100.0%
Bt 123 87 1 0 0 1 84 1] 98.9%
KBS L 1 1 0 0 0 0 1 — 100.0%
PR 85 72 0 0 1 0 70 1] 98.6%
i 46 32 0 0 0 0 32 - 100.0%
Bz 6 3 0 0 0 0 3 - 100.0%
F1i& 126 72 0 0 0 0 72 - 100.0%
&&t 467 331 1 0 1 2 325 2
SH2EEFIRD CREE) 175K Faik (R6.3.31387E)
EBA | RRESRIFIRES] EED | BBEtD | ALFHS| TEH | TR BT |[EFFE
AR 2 2 0 0 0 0 2 - 100.0%
Z il 5 5 0 0 0 0 5 — 100.0%
L3k dE 0|- — — - -
LUk R 9 9 0 0 0 0 9 — 100.0%
Bt 25 17 0 0 0 0 17 - 100.0%
KEFA L o[- — — - —
PR 12 8 0 0 0 0 8 - 100.0%
aar i) 10 9 0 0 0 0 9 — 100.0%
Bz 8 6 0 0 0 0 6 - 100.0%
& 62 46 0 0 0 0 46 — 100.0%
& 133 102 0 0 0 0 102 —
T (R2FEE2R) 600 433 1 0 1 2 427 2
EFHE 432| BEFE 99.8%
H(R2EE) | 1,366] 939] 1 1 1 6 924 6
EFH 937 EFE 99.8%




